ﬁﬁ/—‘

PLANETARY SERVO GEAR BOX ..\




Lubr

WPF SERIES

FEATURES

= Planetary arm bracket and output shaft are one-piece
constructed to ensure maximum torsional rigidity.

= The gears adopt the full-needle design,in order to broaden the
contact area and to increasing the structure rigidity and the output torque.

= 1he mild-steel gears’ hardness of adopting surface hardening technology is
HRC62 ,so that the abrasion resistance and impact toughness can achieve best.

= Because adopting high technology to design the tooth profiles,
the best gear tooth profiles are obtained and the noise are reduced.

= In case to gain power transmission,the maximum clamping force and
zero backlash(ultra-precision) are obtained by adopting double-
locked method between the gearbox input side and the motor shaft.

INDICATION FOR MODEL

SELECTION GENERAL NOTICES

Type, model and torque

)= = [50) = (@) = (K] =) = o

| reference - Ratio or output speed
Ratio — Working conditions and connection methods
3 K-Key - Quantity and installed machine name
4 S-Smooth — Input mode and input speed
5 — Motor brand model or flange and motor shaft size
6
7
8
10
15
h 20
Size 25
060 35
080 a0 Precision
090 50 P2
Model 115 70 Standard backlash
PF 142 100
PL

Brand




Lubr

WPF SERIES

PLANETARY GEARBOX

Performance
Specification Stage Rato  WPFO42 WPF060 WPF080 WPF090 WPF115  WPF142
3 11 18 40 50 125 290
4 15 36 90 110 230 460
5 14 40 110 125 260 550
1 6 8.5 20 40 50 90 340
7 8.5 20 40 50 90 340
8 6 12 22 32 70 210
10 5 12 22 32 70 210
12 20 36 90 110 230 460
15 18 40 110 125 260 550
16 20 36 90 110 230 460
Rated output torque T2n Nm 20 20 40 110 125 260 550
25 18 40 110 125 260 550
2 28 15 36 90 110 230 460
30 14 18 40 50 125 290
35 20 40 110 125 260 550
40 18 36 90 110 230 460
50 14 40 110 125 260 550
60 8.5 20 40 50 90 340
70 8.5 20 40 50 90 340
80 6 12 22 32 70 210
100 5 12 22 32 70 210
Motor shaftsize mm 1,2 3-100 6-10  6-14 14-19 14-19 16-24 19-35
Maximum output torque Nm 1,2 3-100 Double rated output torque
Rated input speed NN mm 1,2 3-100 5000 4000 3500 3500 3500 2500
: 3-10 <15 <10 <10 <10 <10 <10
Backlash arermin
2 12-100 <19 <12 <12 <12 <12 <12
Torsional rigidity Nm/arcmin =~ 1,2 3-100 0.7 1.8 4.7 4.85 11 55
Allowable radial force Foas N 1,2 3-100 160 220 400 430 1000 4500
Allowable axial force Fzas N 1,2 3-100 160 240 420 450 1240 4800
Lifespan hr 1,2 3-100 10000
Efficiency % ! 3-10 =94
2 12-100 =91
Weight kg 1 3-10 0.35 1.7 3.5 4.4 12 26.5
2 12-100 0.45 1.9 4 b} 14 29.6
Working temperature c 1,2 3-100 ~10°C~80°C
IP Grade 1,2 3-100 P65
Lubricating Synthetic lubricating grease
Installation direction 1,2 3-100 In any direction
(n1=3000rpm,) dB(A) 1,2 3-100 <60 <61 <63 <63 <68 <75

Noise value (n1=3000rpm,off load)

1. Ratio ( i=Nin/Nout ) 2. Maximum acceleration torque T28 =60% of T 2noT 3. Output speed100rpm,acting on the center of the output shaft




Lubr

WPF SERIES

(INPUT)

(8 ! L2 o
L T
10, 18 14
: >
= —
lfff'\
[ I
i - < h
= 3 H | | Tyl 8] 3P
SIS i | | — 'S <
o >
}L,,J
| — Y
, | | &}\ E
(6 o & ) 2
. =
N 2, 1
%s
DIMENSION ) :

SINGLE SECTION

Dimension(single stage,Ratio i=3~10)

Dimension WPF042-L1  WPF060-L1 WPF080-L1 WPF090-L1 WPF115-L1 WPF142-L1
%D1 50 70 100 110 130 185
%D2 4.5 5.5 6.5 6.5 8.5 11
%D3 10 14 20 22 25 40
%D4 26 50 80 85 110 130
D5 12 17 25 30 35 55
D6 M4 M5 M6 M6 M10 M12
D7 58 80 120 125 160 230
L1 42 60 %0 92 120 176
%12 26 35 40 46 55 87
L3 2 3 3 5 4 5
L4 22.5 30 36 36 50 80
%15 16 25 25 32 40 70
L6 2.5 2.5 5 2 5 5
L7 10 12.5 18 18 23 25
L8 5 8 10 10 14 15
@ 46 70 90 90 145 200
*C2 M4 M4 M5 M5 M8 M12
*C3 5-8 6-14 14-19 14-19 19-24 24-35
*C4 26 315 41 41 60 83
*Ch 30 50 70 70 110 114.3
*C6 4 5 6 5 14 10
c7 42 60 80 80 130 180
Cs 29.5 34.5 46.5 46.5 81.2 107
c9 88 118.5 152.9 166 204.5 268.5
c10 10.5 11 16.5 16.5 20 26
C11 56 80 105 105 165 235
B 3 5 6 6 8 12

H1 11.2 16 22.5 245 28 43




Lubr

WPF SERIES

(INPUT)
c9 ocr
18 Li4 L
— -8
===
L3 & 402 @?}
1h9 .
; ==
D6\ %"’ 1
DIMENSION ’
DOUBLE SECTION
Dimension(double stage,Ratio i=15~100)
Dimension WPF042-L2  WPF060-L2  WPF080-L2  WPF090-L2 ~ WPF115-L2  WPF142-L2
%D1 50 70 100 110 130 185
D2 4.5 5.5 6.5 6.5 8.5 11
%D3 10 14 20 22 25 40
D4 26 50 80 85 110 130
D5 12 17 25 30 35 55
D6 M4 M5 M6 M6 M10 M12
D7 58 80 120 125 160 230
L1 42 60 90 92 120 176
%12 26 35 40 46 55 87
%13 . 3 3 5 4 5
L4 225 30 36 36 50 80
%15 16 25 25 32 40 70
L6 2.5 2.5 5 2 5 5
L7 10 12.5 18 18 23 25
L8 5 8 10 10 14 15
*C1 46 70 9 90 145 200
*C2 M4 M4 M5 M5 M8 M12
*C3 5-8 6-14 14-19 14-19 19-24 24-35
*C4 26 315 1 M 60 83
*Ch 30 50 70 70 110 1143
*C6 4 5 6 5 14 10
c7 42 60 80 80 130 180
cs 29.5 34.5 46.5 46.5 81.2 107
c9 88 137.5 1774 190.5 237 313.5
c10 10.5 1 16.5 16.5 20 26
C11 56 80 105 105 165 235
%B1 3 5 6 6 8 12

HH 11.2 16 225 245 28 43




Lubr

WVRB SERIES

FEATURES

= Planetary boom and output shaft are intergrated
structure designed to ensure maximum torsional rigidity.

= Planetary wheel with full needle design,increase the contact
area to improve the rigidity and output torque.

= The gears are carburized and quenched to the HRC62 with low
carbon steel surface for optimum wear and impact toughness.

m Gears refer to foreign imported software-assisted design
to obtain the best tooth shape to reduce noise.

m Theinputterminal is connected to the motor shaft in a double-tight
manner to obtain the maximum clamping force and zero
backlash power transmission.

INDICATION FOR MODEL

SELECTION GENERAL NOTICES

[ w ] [VRB] [ 010} [ 010 ] [ K ] [ P2 ] - Type, model and torque
| | Motor — Ratio or output speed
Ratio reference — Working conditions and connection methods

3 K — Quantity and installed machine name
2 S - Input mode and input speed
5 — Motor brand model or flange and motor shaft size
6
7
8
10
15
20

Size 25

042 35

060 40 Precision

090 50

P2
MVORd;I 115 60 Standard backlash
140 70
180 80

Brand 220 100




Lubr

PLANETARY GEARBOX

Performance
Specification Unit Stage Ratio WVRB042 WVRB060 WVRB090 WVRB115 WVRB140 WVRB180 WVRB220
3 19 50 130 208 342 588 1140
4 20 55 140 290 542 1050 1700
5 22 60 160 330 650 1200 2000
1 6 20 55 150 310 600 1100 1900
7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
10 14 40 100 230 450 900 1500
15 20 55 130 208 342 588 1140
20 19 50 140 290 542 1050 1700
Rated outputiorque Nm 25 22 60 160 330 650 1200 2000
30 20 55 150 310 600 1100 1900
35 19 50 140 300 550 1100 1800
2 40 17 45 120 260 500 1000 1600
50 22 60 160 330 650 1200 2000
60 20 55 150 310 600 1100 1900
70 19 50 140 300 550 1100 1800
80 17 45 120 260 500 1000 1600
100 14 40 100 230 450 900 1500
Emergency stop torque TaNOT Nm 1,2 3~100 Triple rated output torque
Rated input speed NN 1,2 3~100 5000 5000 4000 4000 3000 3000 2000
Maximum iutput speed N18 e 1,2 3~100 10000 10000 8000 8000 6000 6000 4000
] 1 3~10 012 <b <b <b <b <b <b
Standard backlashP2 arcmin
2 15~100 016 <8 <8 <8 <8 <8 <8
Torsional rigidity Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225
Allowable radial forceFzas N 1,2 3~100 780 15630 3250 6700 9400 14500 50000
Allowable axial force Fzss N 1,2 3~100 390 765 1625 3350 4700 7250 25000
Lifespan hr 1,2 3~100 20000
— % 1 3~10 =97%
2 15~100 =94%
. kg 1 3~10 0.6 1.5 3.7 7.8 16 36 58
2 15~100 0.7 1.6 4.2 11 17 37 54
Working temperature © 1,2 3~100 -10°C ~90°C
Lubricating 1,2 Synthetic lubricating grease
IP Grade 1,2 3~100 IP65
Installation direction 1,2 3~100 In any direction
(n1=3000rpm.) dB(A) 1.2 3~100 <56 <58 <60 <63 <65 <67 <70

Noise level (n1=3000rpmoff load)




Lubr

WVRB SERIES

ROTATIONAL INERTIA OF

REDUCER

Specification Unit Stage Ratio WVRB042 WVRB060 WVRB090 WVRB115 WVRB140 WVRB180 WVRB220

3 0.053 0.22 1.2 5.3 20 44 90

4 0.041 0.17 0295 4.1 15 28 62

15} 0.036 0.16 0.86 3.6 14 22 52

1 6 0.034 0.15 0.82 3.3 13 18 47

7 0.032 0.14 0.79 3.2 12 16 42

8 0.031 0.14 0.77 3.1 12 15 40

10 0.03 0.14 0.75 <) 11 14 38

15 0.035 0.14 0.72 2.8 11 12 36

20 0.034 0.13 0.72 2.8 11 12 356

Rotationalinerfia J1 kg - om’ 25 0.034 0.13 0.71 2.8 11 12 35
30 0.03 0.13 0.7 2.7 10 11 34

356 0.034 0.13 0.71 2.7 11 12 3B

2 40 0.03 0.13 0.7 2.7 10 N 33

50 0.03 0.13 0.69 2.7 10 M 33

60 0.03 0.13 0.69 2.7 10 1M 33

70 0.03 0.13 0.69 2.7 10 11 33

80 0.03 0.13 0.69 2.7 10 11 33

100 0.03 0.13 0.69 2.7 10 11 33

1. Ratio ( i=Nin/Nout ) 2. Maximum acceleration torque T 28 =60% of T 2noT 3. Output speed100rpm,acting on the center of the output shaft




Lubr

WVRB SERIES

oLl (8 oc?
5 17 3 12 G
G 1 TR
. - L5 16 6 5
/ =PI hiIeRnal
y ik ===
| L L 14 @E& ©
P e et
O D2 G Q %
Y d) V,. | &
z L8
oD3j6 19
SINGLE SECTION
Dimension(single stage,Ratio i=3~10)
Dimension WVRB060 WVRB090 WVRB115 WVRB140 WVRB180 WVRB220
D1 70 100 130 165 215 250
D2 5.5 6.6 9 11 13.5 17
D36 16 22 32 40 55 75
D4 g6 50 80 110 130 160 180
D5 18 30 40 50 70 85
D6 M5*0.8P M8*1.25P M12%1.75P M16%2.0P M20%*2.5P M20*2.5P
D7 80 116 152 185 240 290
L1 60 90 115 140 180 220
L2 37 48 60 95 105 138
L3 7 10 7 13 20 30
L4 15 15 2 3 3 3
L5 25 32 40 63 70 90
L6 2 3 5 5 6 7
L7 6 8 10 12 165 20
L8 4.8 7.2 10 12 15 15
L9 12.5 19 28 36 42 42
C1 70 90 90 145 145 200 200 200 235
C2 M4 M5 M5 M8 M8  MI2 M12%1.75P M12%1.76P M12%1.76P
c3 <14 <19 <19 <24 <24 <35 <35/<42 <42 <42/<55
ca 315 41 41 59 60 81 81 114 117
C5 50 70 70 110 110 1143 114.3 114.3 200
ce 5 5 6 14 14 19 19 24 20
c7 60 80 80 130 130 180 180 180 220
cs 115 128 145 163 1995 2215 279 318 377
B1h9 5 6 10 12 16 20

H1 18 24.5 356 43 59 79.5




WVRB SERIES

Lubr

0Ll 08 oer
—] 17 12 —
ngis/y_ gi 0 X)&/45 1 .
i T _ Lb L6 @ ﬁ@b

HHE S 28 % - HmooT

¢ ; canllle

o 5 o o/
S " 0§ @ T G
) 04 iy O &

\\J
18
oD3j6 L9
DOUBLE SECTION
Dimension(double stage,Ratio i=15~100)

Dimension WVRB042  WVRB0O60  WVRB090  WVRB115  WVRB140  WVRB180  WVRB220
D1 - 70 100 130 165 215 250
D2 - 5.5 6.6 9 11 13.5 17
D3j6 - 16 22 32 40 55 75
D4 g6 - 50 80 110 130 160 180
D5 - 18 30 40 50 70 85
D6 - M5*0.8P M8*1.25P  M12*1.75P  M16*2.0P  M20*2.5P  M20%*2.5P
D7 - 80 116 152 185 240 290
L1 - 60 90 115 140 180 220
L2 - 37 48 60 95 105 138
L3 - 7 10 7 13 20 30
L4 - 1.5 1.5 2 3 3 3
L5 - 25 32 40 63 70 90
L6 - 2 3 5 5 6 7
L7 - 7 10 12 15 20
L8 - 4.8 7.2 10 12 15 15
L9 - 12.5 19 28 36 42 42
c - 70 90 70 90 145 90 145 145 200 200
c2 - M4 M5 M4 M5 M8 M5 M8 M8*1.25P M12%1.75P  M12*1.75P
c3 - <14 <19 <14 <19 <24 <19 <24  <24/<28 <35 <42
Cc4 - 315 41 315 41 59 41 60 66 80 114
cs5 - 50 70 50 70 110 70 110 110 114.3 114.3
ce6 - 5 5 5 6 14 6 14 10 9 24
c7 - 60 80 60 80 130 80 130 130 180 180
cs = 1415 1545 1625 179 197 214 2445 340 352.5 4415
B1h9 - 5 6 10 12 16 20
H1 - 18 24.5 35 43 59 79.5




LADAKH

JAMMU
2
KASHMIR
HIMACHAL
PRADESH
LUDHII.\NA
PUNJAB
UTTARAKHAND
o
DELHI, o
RO
SIKKIM
UTTAR PRADESH
ASSAM
NAGALAND
RAJASTHAN
MEGHALAYA
BIHAR
MANIPUR
JHARKHAND
GANDHINAGAR % MIZORAM
@ AHMEDABAD ®
GUIARAT MADHYA PRADESH KOLKATA

) VAPI ODISHA
- CHHATTISGARH

MAHARASHTRA

MUMBAI o
O PUNE TELANGANA
()
HYDERABAD
604 ANDHRA
e A @ HEAD OFFICE
© BRANCH OFFICE
This map of INDIA does not reflect
BE“GALURU. ©CHENNAI accurate boundaries. It is only for
illustration purpose.
PUDUCHERRY
() TAMIL NADU
COIMBATORE
KERALA

Lubi Electronics

Sardar Patel Ring Road, Nr. Karai Gam Patia, Nana Chiloda, Dist. : Gandhinagar - 382 330.

Tel. : +91-79-6674 5300 - Fax : +91-79-6674 5599
E-mail : info@lubielectronics.com - Website : www.lubielectronics.com

BRANCH OFFICE

VAPI

104-A, Platinum Mall, Plot No. Cm/13, Opp. V.LA. Ground,
G.1.D.C. Vapi - 396 195. District : Valsad, Gujarat. INDIA
Tel. : + 91 - 260 - 2425 307

MUMBAI

405, Sangeet Plaza, Opp. Marol Fire Brigade, Marol Maroshi Road,
Andheri (E), MUMBAI - 400 059.

Tel.:+91- 22 - 6704 2570 / 2925 7315

PUNE

Breman Business Center, Off. No.301, Nr. City International School,
Opp. Breman Square, University Road, Aundh Pune - 411 007.

Tel.: + 91- 20 - 2588 0583

DELHI

404, 4th Floor, Ajit Singh House, 12, Commercial Complex,
Yusuf Sarai, New Delhi. 110 049.

Tel. : + 91-11-4608 5120

LUDHIANA

BXX1/14436, Nr. Dada Motors, Besides HDFC Bank,
Kalsinagar, G.TRoad, Ludhiana - 141 003.

Tel. :+91-161- 2535 342

BANGALORE

"Sri Chakra" #30/25/1, 1st Floor, New Ring Road,

Malagala, 2nd Stage, Nagarabavi, Bangalore-560072, Karnataka.
Tel. :+91- 078150 1841

CHENNAI

#3, 1st Floor, Vishalakshi Street, Balavinayagar Nagar,
Arumbakkam, Chennai - 600 106.

Tel. :+91- 44 - 6459 8855 - Fax : + 91 - 44 - 4355 6630

COIMBATORE

SF 489/2 Thiru Nagar 3rd Street,

Selvapuram By-Pass Road, Coimbatare - 641026.

Tel. : + 91-422-6555 886 - Service No. : +91 - 422 - 2340 111

HYDERABAD

Shed No. - 21, Phase - 1, TCIE, Balanagar,
Hyderabad - 500 037.

Tel. : + 91 - 40 - 4007 3424

KOLKATA

41/30 Dum Dum Road, Gostha Behari Colony, Post: Motijheel,
PS: DumDum, Kolkata - 700074.

Tel. : +91-90819 03883



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

